®

MARSHALLTOWN
The PremierlLine

1/3 H.P. ELECTRIC MOTOR KIT

The balt shouid be set as loose as passibla without slipping. |f the beit .
is set 100 light, it may cduse bearing wear and reduce tha lite of your

alectric motor.

Extra 5/16" flat washers ara included in the parts bag lo be usad as
shims to abtain the proper belt tension.

Ret.
Let.
A

C—I0 mMmmOm

» Common Hardware. May be purchased locally.

1/2 H.P. ELECTRIC MOTOR KIT

POWER KITS FOR CONCRETE MIXERS

PART #

POWER KITS
FOR CONCRETE MIXERS
OPERATOR'S MANUAL

POWER KIT
MODELS
69002 - 1/3 H.P. Electric Moto

69125 - 1/2 H.P. Electric Molc

& PARTS LIST

Part
No.
192432

5284

5283
5196

Description

Elec. Motor /3 H.P., 115V,
60 Cy. 1725 RPM

Pullay, Motor 2° Dia.

Beit, “v*

Alten Wranch, /32

Cap Scrow, Hex Hd.,
5/t0-18x 17

Washer, Flat 5/18

Washer, Lock 5/16
Nut, Square 5/15-18

Sat Screw, Socket Hd.,
5/16-18 x 5/16 Heat Treated

The belt should ba sat as loose as possible without slipping. if the belt
is sel tow tight, it may cause bearing wear and reduce the life of your

electric motor.

Red,
Let.
A

MmO o

[ ol ]

Description :
Elec. Motor 1/2 H.P., 115V
80 Cy. 1725 RPM '
Pulley, Motor 2° Dia.

Balt, *V*

Ailen Wrench, 5/32°

Cap Screw, Hex Hd,,
5/16-18 x 1°

Washer, Flat 5/16

Washer, Lock 5/16

Nut, Square 5/16-18

Seat Screw, Socket Hd.,
5/16-18 x 5/16 Heat Treated

Marshalltown, IA « Phone 800-888-0127 / 641-753-0127 - Fax 800-477-6341 / 641-753-6341 « www.MARSHALLTOWN.com

4.2010

MIX69002 23572
MIX69125 23579



